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QUESTION 1

You are working on an Oracle Database 19c¢ database. You enabled the Flashback Database feature. Which two
statements regarding flashback logs are true? (Choose two).)

A. Flashback logs are not archived.

B. Flashback logs are maintained in redo log files.

C. Flashback logs are maintained in the Flash Recovery Area.

D. Flashback logs are used to maintain Flashback Database related errors.

E. Flashback logs need to be cleared manually after you disable Flashback Database.

Correct Answer: AC

QUESTION 2

Identify three scenarios in which RMAN will use backup sets to perform active database duplication.

A. when the duplicate ... from active database command contains the section size clause

B. when you perform active database duplication on a database with flashback disabled

C. when you specify set encryption before the duplicate ... from active database command

D. when the number of auxiliary channels allocated is equal to or greater than the number of target channels

E. when you perform active database duplication on a database that has readonly tablespaces

Correct Answer: ACD

Starting with Oracle Database 12c Release 1 (12.1), RMAN can use backup sets to transfer the source database files
that need to be duplicated. The backup sets are transferred over the network to the auxiliary database. Backup sets can
be encrypted for additional security. Specify the encryption algorithm by using the SET ENCRYPTION ALGORITHM
command before the DUPLICATE command. RMAN uses backup sets to perform active database duplication when the
connection to the target database is established using a net service name and any one of the following conditions is
satisfied: The DUPLICATE ... FROM ACTIVE DATABASE command contains either the USING BACKUPSET, USING
COMPRESSED BACKUPSET, or SECTION SIZE clause. The number of auxiliary channels allocated is equal to or

greater than the number of target channels allocated. http://docs.oracle.com/database/121/BRADV/
rcmdupdb.htm#BRADV298

QUESTION 3
You must transport the UNIVERSITY tablespace from one database to another.
The UNIVERSITY tablespace is currently open read/write.

The source and destination platforms have different endian formats.
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Examine this list of actions:

1.

Make the UNIVERSITY tablespace read-only on the source system.

2.

Export the UNIVERSITY tablespace metadata using EXPDP.

3.

Convert the UNIVERSITY tablespace data fies to the destination platform format using RMAN on the source system.
4,

Copy the UNIVERSITY tablespace data files to the destination system.
5.

Copy the Data Pump dump set to the destination system.

6.

Convert the UNIVERSITY tablespace data files to the destination platform format using RMAN on the destination
system.

7.

Import the UNIVERSITY tablespace metadata using IMPDP.

8.

Make the UNIVERSITY tablespace read/write on the destination system.

Which is the minimum number of actions required, in the correct order, to transport the UNIVERSITY tablespace?
A.1,2,4,57,8

B.1,2,4,6,7,8

C.1,2,3,4,57,8

D.1,2,3,4,5,6,7,8

E.2,4,5,6,7

Correct Answer: C

QUESTION 4

Examine this configuration:
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1.

CDBL1 is a container database.

2.

COMMON_USER_PREFIX is C##.

3.

PDB1 is a pluggable database contained in CDB1.

4,

APP1_ROOQOT is an application container contained in CDBL1.
5.

APP1_PDB1 is an application PDB contained in APP1_ROOT.

You execute these commands successfully:
$ sglplus sys/oracle 4U@localhost:1521/cdbl as sysdba

SQL>» CREATE USER c##userl identified by oracle 4U container=all;
User created.

S5QL> ATTEER SESSION SET CONTAINER=pdbl;
Session altered.

SQL> CREATE USER pl userl identified by oracle 47U;
User Created.

SQL> ATLTER SESSION SET CGNTRINER=appl_rOOt;
Session altered.

SQL> ALTER PLUGCABLE DATABASE APPLICATION appl_cdbl_app BEGIN INSTALL '1.0Ff;
Session altered.

SQL> CREATE USER appl userl IDENTIFIED BY oracle 4U;
User Created.

SQL> ALTER PLUGGABLE DATABASE APPLICATION appl cdbl app END INSTALL '1.07;
Pluggable database altered.

Which two are true? (Choose two.)

A. APP1_USERLI1 can be created in PDB1.

B. APP1_USER1 can be created in CDBL1.

C. APP1_USERLI1 can have different privileges in each Application PDB contained in APP1_ROOT.

D. C## APP_USERL1 can be created in CDB1.
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E. P1_USERL1 can be created in CDB1.
F. C##_USERL1 will have the same privileges and roles granted in all PDBs in CDB1.

Correct Answer: AD

QUESTION 5
Which three are true about Recovery Manager (RMAN) in Oracle Database 19c and later releases? (Choose three.)

A. It is only possible for RMAN to connect to a pluggable database as a target if an RMAN Virtual Private Catalog is
used.

B. It is always possible for RMAN to connect to a pluggable database as a target if any RMAN Catalog is used.
C. A Virtual Private Catalog used to register a container database must be created in a pluggable database.

D. A Virtual Private Catalog used to register a container database can be created in a pluggable database.

E. It is always possible for RMAN to connect to a pluggable database as a target.

F. A Virtual Private Catalog used to register a container database can be created in a non-container database.

Correct Answer: DEF
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